Filomat 38:2 (2024), 357–368 https://doi.org/10.2298/FIL2402357F



Published by Faculty of Sciences and Mathematics, University of Niš, Serbia Available at: http://www.pmf.ni.ac.rs/filomat

# **Conformal** $(\sigma, \tau)$ -derivations on Lie conformal algebras

## Tianqi Feng<sup>a</sup>, Jun Zhao<sup>b</sup>, Liangyun Chen<sup>a,\*</sup>

<sup>a</sup> School of Mathematics and Statistics, Northeast Normal University, Changchun 130024, China <sup>b</sup>School of Mathematics and Statistics, Henan University, Kaifeng 475004, China

**Abstract.** In this paper, we focus on the conformal ( $\sigma$ ,  $\tau$ )-derivation theory of Lie conformal algebras. Firstly, we study the fundamental properties of conformal ( $\sigma$ ,  $\tau$ )-derivations. Secondly, we mainly research the interiors of conformal *G*-derivations. Finally, we discuss the relationships between the conformal ( $\sigma$ ,  $\tau$ )-derivations and some generalized conformal derivations of Lie conformal algebras.

#### 1. Introduction

Lie conformal algebras, introduced by Kac in [4, 5], encode the singular part of the operator product expansion of chiral fields in two-dimensional quantum field theory. Furthermore, the category of Lie conformal algebras is equivalent to the category of formal distribution Lie algebras, which are essentially infinite-dimensional Lie algebras. Namely, they are closely connected to the notion of a formal distribution Lie algebra (g,  $\mathcal{F}$ ), which is a Lie algebra g spanned by the coefficients of a family  $\mathcal{F}$  of mutually local formal distributions. See [2] for details.

The derivation theory of Lie conformal algebras was introduced in [2]. The generalized derivation theory of Lie conformal (super)algebras was developed in [3, 6, 7]. [1] studied a kind of new generalized derivations of Lie algebras, that is the ( $\sigma$ ,  $\tau$ )-derivation theory of Lie algebras. In the present paper, we aim to do the same as in [1] for Lie conformal algebras, extending the ( $\sigma$ ,  $\tau$ )-derivations of Lie algebras to that of the Lie conformal algebras.

This paper is organized as follows. In Section 1, we recall several basic definitions of Lie conformal algebras and introduce the concept of conformal ( $\sigma$ ,  $\tau$ )-derivations of Lie conformal algebras. In Section 2, we obtain some fundamental properties of conformal ( $\sigma$ ,  $\tau$ )-derivations. In Section 3, we describe the interiors of conformal *G*-derivations and compute the corresponding Hilbert series to show its complexity. In Section 4, we devote ourselves to studying the connections between the conformal ( $\sigma$ ,  $\tau$ )-derivations and some generalized conformal derivations, such as centroids and conformal ( $\alpha$ ,  $\beta$ ,  $\gamma$ )-derivations.

Throughout this paper, we denote by  $\mathbb{C}$  the field of complex numbers. Denote by  $\mathbb{Z}$  the ring of integers and  $\mathbb{Z}_{\geq 0}$  the set of nonnegative integers. The set of strictly positive integers will be denoted by  $\mathbb{N}^+$ .

*Keywords*. Lie conformal algebra, conformal ( $\sigma$ ,  $\tau$ )-derivation, conformal ( $\alpha$ ,  $\beta$ ,  $\gamma$ )-derivation.

Received: 27 November 2022; Accepted: 20 July 2023

\* Corresponding author: Liangyun Chen

Email addresses: fengtq477@nenu.edu.cn (Tianqi Feng), zhaoj@henu.edu.cn (Jun Zhao),

chenly640@nenu.edu.cn (Liangyun Chen)

<sup>2020</sup> Mathematics Subject Classification. Primary 17A36; Secondary 17A30.

Communicated by Dijana Mosić

This work is supported by NSF of Jilin Province (No. YDZJ202201ZYTS589), NNSF of China (Nos. 12271085, 12071405, 12201182) and the Fundamental Research Funds for the Central Universities.

#### 2. Preliminaries

In this section, for the reader's convenience, we shall summarize some basic facts about Lie conformal algebras used in this paper, see [2, 4]. At the end of this section, we introduce the notion of a conformal ( $\sigma$ ,  $\tau$ )-derivation for arbitrary Lie conformal algebras.

**Definition 2.1.** [4] *A Lie conformal algebra*  $\mathcal{R}$  *is a left*  $\mathbb{C}[\partial]$ *-module, and for any*  $n \in \mathbb{Z}_{\geq 0}$  *there is a family of*  $\mathbb{C}$ *-linear n-products from*  $\mathcal{R} \otimes \mathcal{R}$  *to*  $\mathcal{R}$  *satisfying* 

- (C0) For any  $a, b \in \mathcal{R}$ ,  $a_{(n)}b = 0$  for  $n \gg 0$ ,
- (C1) For any  $a, b \in \mathcal{R}$  and  $n \in \mathbb{Z}_{\geq 0}$ ,  $(\partial a)_{(n)}b = -na_{(n-1)}b$ ,
- (C2) For any  $a, b \in \mathcal{R}$  and  $n \in \mathbb{Z}_{>0}$ ,

$$a_{(n)}b = -\sum_{j=0}^{\infty} (-1)^{j+n} \frac{1}{j!} \partial^{j}(b_{(n+j)}a),$$

(C3) For any  $a, b, c \in \mathcal{R}$  and  $m, n \in \mathbb{Z}_{\geq 0}$ ,

$$a_{(m)}(b_{(n)}c) = \sum_{j=0}^{m} {m \choose j} (a_{(j)}b)_{(m+n-j)}c + b_{(n)}(a_{(m)}c)$$

(Convention:  $a_{(n)}b = 0$  if n < 0).

*Define the*  $\lambda$ *-bracket*  $[-_{\lambda}-]$  *by* 

$$[a_{\lambda}b] = \sum_{n=0}^{\infty} \frac{\lambda^n}{n!} a_{(n)}b, \quad \forall a, b \in \mathcal{R}.$$
 (1)

*Then*  $\mathcal{R}$  *is a Lie conformal algebra if and only if*  $[-_{\lambda}-]$  *satisfies* 

- (C1)<sub> $\lambda$ </sub> Conformal sesquilinearity :  $[(\partial a)_{\lambda}b] = -\lambda[a_{\lambda}b];$
- (C2)<sub> $\lambda$ </sub> Skew symmetry :  $[a_{\lambda}b] = -[b_{-\partial-\lambda}a];$
- (C3)<sub> $\lambda$ </sub> Jacobi identity :  $[a_{\lambda}[b_{\mu}c]] = [[a_{\lambda}b]_{\lambda+\mu}c] + [b_{\mu}[a_{\lambda}c]].$

A Lie conformal algebras is called *finite* if  $\mathcal{R}$  is a finitely generated  $\mathbb{C}[\partial]$ -module. The *rank* of a conformal algebra  $\mathcal{R}$  is its rank as a  $\mathbb{C}[\partial]$ -module (recall that this is the dimension over  $\mathbb{C}(\partial)$ , the field of fractions of  $\mathbb{C}[\partial]$ , of  $\mathbb{C}(\partial) \otimes_{\mathbb{C}[\partial]} \mathcal{R}$ ).

Throughout this paper, we assume that  $\mathcal{R}$  is finite.

**Definition 2.2.** [4] An associative conformal algebra  $\mathcal{R}$  is a left  $\mathbb{C}[\partial]$ -module endowed with a  $\lambda$ -product from  $\mathcal{R} \otimes \mathcal{R}$  to  $\mathbb{C}[\lambda] \otimes \mathcal{R}$ , for any  $a, b, c \in \mathcal{R}$ , satisfying

- (1)  $(\partial a)_{\lambda}b = -\lambda a_{\lambda}b, a_{\lambda}(\partial b) = (\partial + \lambda)(a_{\lambda}b),$
- (2)  $a_{\lambda}(b_{\mu}c) = (a_{\lambda}b)_{\lambda+\mu}c.$

**Definition 2.3.** [2] Let M and N be  $\mathbb{C}[\partial]$ -modules. A conformal linear map from M to N is a sequence  $f = \{f_{(n)}\}_{n \in \mathbb{Z}_{\geq 0}}$ of  $f_{(n)} \in \operatorname{Hom}_{\mathbb{C}}(M, N)$  satisfying that

$$\partial_N f_{(n)} - f_{(n)} \partial_M = -n f_{(n-1)}, \ n \in \mathbb{Z}_{\geq 0}.$$

Set  $f_{\lambda} = \sum_{n=0}^{\infty} \frac{\lambda^n}{n!} f_{(n)}$ . Then  $f = \{f_{(n)}\}_{n \in \mathbb{Z}_{\geq 0}}$  is a conformal linear map if and only if

$$f_{\lambda}\partial_M = (\partial_N + \lambda)f_{\lambda}$$

Let Chom(M, N) denote the set of conformal linear maps from M to N. Then Chom(M, N) is a  $\mathbb{C}[\partial]$ -module via:

$$\partial f_{(n)} = -n f_{(n-1)}$$
, equivalently,  $\partial f_{\lambda} = -\lambda f_{\lambda}$ .

The composition  $f_{\lambda}g: L \to N \otimes \mathbb{C}[\lambda]$  of conformal linear maps  $f: M \to N$  and  $g: L \to M$  is given by

$$(f_{\lambda}g)_{\lambda+\mu} = f_{\lambda}g_{\mu}, \quad \forall f,g \in \operatorname{Chom}(M,N).$$

If *M* is a finitely generated  $\mathbb{C}[\partial]$ -module, then Cend(*M*) := Chom(*M*, *M*) is an associative conformal algebra with respect to the above composition. Thus, Cend(*M*) becomes a Lie conformal algebra, called the general linear Lie conformal algebra, denoted as *qc*(*M*), with respect to the  $\lambda$ -bracket(see [2, Example3.5]):

$$[f_{\lambda}g]_{\mu} = f_{\lambda}g_{\mu-\lambda} - g_{\mu-\lambda}f_{\lambda}.$$
(2)

Throughout this paper, we mainly deal with  $\mathbb{C}[\partial]$ -modules which are finitely generated.

**Definition 2.4.** [2] *Let*  $\mathcal{R}$  *be a Lie conformal algebra.*  $d \in \text{Cend}(\mathcal{R})$  *is a conformal derivation if for any*  $a, b \in \mathcal{R}$  *it holds that* 

$$d_{(m)}(a_{(n)}b) = \sum_{j=0}^{m} {m \choose j} (d_{(j)}a)_{(m+n-j)}b + a_{(n)}(d_{(m)}(b));$$

equivalently,

$$d_{\lambda}([a_{\mu}b]) = [(d_{\lambda}(a))_{\lambda+\mu}b] + [a_{\mu}(d_{\lambda}(b))].$$

For any  $r \in \mathcal{R}$ ,  $d_1^r$  is called an *inner* conformal derivation of  $\mathcal{R}$  if  $d_1^r(r') = [r_{\lambda}r'], \forall r' \in \mathcal{R}$ .

Define  $\text{CDer}(\mathcal{R})$  as the set of conformal derivations of  $\mathcal{R}$ , then it is obvious that  $\text{CDer}(\mathcal{R})$  is a subalgebra of  $\text{Cend}(\mathcal{R})$ .

**Definition 2.5.** [2] Let  $\mathcal{R}$  and  $\mathcal{R}'$  be two Lie conformal algebras. A homomorphism  $\phi$  from  $\mathcal{R}$  to  $\mathcal{R}'$  of Lie conformal algebras is a  $\mathbb{C}[\partial]$ -linear homomorphism if for any  $a, b \in \mathcal{R}$  it holds that

$$\phi(a_{(n)}b) = (\phi(a)_{(n)}\phi(b));$$

equivalently,

 $\phi([a_{\lambda}b]) = [\phi(a)_{\lambda}\phi(b)].$ 

We call  $\phi$  an isomorphism if it is bijective. We call  $\phi$  an endomorphism if  $\mathcal{R} = \mathcal{R}'$ . We call  $\phi$  an automorphism if it is bijective and if  $\mathcal{R} = \mathcal{R}'$ .

In the following, we denote  $\operatorname{Aut}(\mathcal{R})$  the automorphism group of  $\mathcal{R}$ .

**Definition 2.6.** [2] Let  $\mathcal{R}$  be a Lie conformal algebra and G a subgroup of Aut( $\mathcal{R}$ ). Then  $d \in Cend(\mathcal{R})$  is a conformal *G*-derivation of  $\mathcal{R}$  if there exist two elements  $\sigma$ ,  $\tau$  in G such that

 $d_{\lambda}([a_{\mu}b]) = [(d_{\lambda}(a))_{\lambda+\mu}(\sigma(b))] + [(\tau(a))_{\mu}(d_{\lambda}(b))], \quad \forall a, b \in \mathcal{R}.$ 

In this case,  $\sigma$  and  $\tau$  are called the associated automorphisms of *d*.

Denote by  $\text{CDer}_G(\mathcal{R})$  the set of all conformal *G*-derivations of  $\mathcal{R}$ . It is clear that  $\text{CDer}_G(\mathcal{R}) = \text{CDer}(\mathcal{R})$  if *G* is a trivial group, that is  $G = \{\text{id}_{\mathcal{R}}\}$ . Thus, conformal *G*-derivations can be viewed as a generalization of conformal derivations. What's more, if  $G \leq H$  are two subgroups of  $\text{Aut}(\mathcal{R})$ , then  $\text{CDer}_G(\mathcal{R}) \subseteq \text{CDer}_H(\mathcal{R})$  and  $\text{CDer}(\mathcal{R})$  is contained in  $\text{CDer}_G(\mathcal{R})$  for any subgroup *G* of  $\text{Aut}(\mathcal{R})$ .

Fix two automorphisms  $\sigma, \tau \in G$ , we denote by  $\text{CDer}_{\sigma,\tau}(\mathcal{R})$  the set of all conformal *G*-derivations associated to  $\sigma$  and  $\tau$ , called the *conformal*  $(\sigma, \tau)$ -*derivation*. It is clear that  $\text{CDer}_{\sigma,\tau}(\mathcal{R}) \subseteq \text{CDer}_G(\mathcal{R})$  is a  $\mathbb{C}[\partial]$ -module and  $\text{CDer}_{\text{id}_{\mathcal{R}},\text{id}_{\mathcal{R}}}(\mathcal{R}) = \text{CDer}(\mathcal{R})$ . For convenience, we denote  $\text{CDer}_{\sigma,\text{id}_{\mathcal{R}}}(\mathcal{R})$  by  $\text{CDer}_{\sigma}(\mathcal{R})$ .

Hereafter, *G* always denotes a subgroup of  $Aut(\mathcal{R})$ .

#### 3. Fundamental properties

In this section, we aim to show several fundamental properties of conformal ( $\sigma$ ,  $\tau$ )-derivations.

**Proposition 3.1.** Let  $\mathcal{R}$  be a Lie conformal algebra. If  $\sigma, \tau \in G$ , then  $\operatorname{rank}(\operatorname{CDer}_{\sigma,\tau}(\mathcal{R})) = \operatorname{rank}(\operatorname{CDer}_{\tau^{-1}\sigma}(\mathcal{R}))$ .

*Proof.* Define a map  $\varphi_{\tau}$  :  $\text{CDer}_{\sigma,\tau}(\mathcal{R}) \to \text{CDer}_{\tau^{-1}\sigma}(\mathcal{R})$  by

 $\varphi_{\tau}(d) = \tau^{-1}d, \quad \forall d \in \mathrm{CDer}_{\sigma,\tau}(\mathcal{R}).$ 

Note that

$$\tau^{-1}(d_{\lambda}([a_{\mu}b])) = \tau^{-1}([(d_{\lambda}(a))_{\lambda+\mu}(\sigma(b))] + [(\tau(a))_{\mu}(d_{\lambda}(b))])$$
  
=  $[(\tau^{-1}(d_{\lambda}(a)))_{\lambda+\mu}(\tau^{-1}(\sigma(b)))] + [a_{\mu}(\tau^{-1}(d_{\lambda}(b)))],$ 

for any  $a, b \in \mathcal{R}$ . Hence  $\tau^{-1}d \in \text{CDer}_{\tau^{-1}\sigma}(\mathcal{R})$ , and thus the map  $\varphi_{\tau}$  is well-defined. What's more

$$\varphi_{\tau}(d_1 + d_2) = \tau^{-1}(d_1 + d_2) = \tau^{-1}d_1 + \tau^{-1}d_2 = \varphi_{\tau}d_1 + \varphi_{\tau}d_2,$$

$$\varphi_{\tau}(\partial d) = \varphi_{\tau}(-\lambda d_{\lambda}) = -\lambda \varphi_{\tau}(d_{\lambda}) = -\lambda \tau^{-1}(d_{\lambda}) = \partial \varphi_{\tau}(d_{\lambda}).$$

That is to say,  $\varphi_{\tau}$  is a  $\mathbb{C}[\partial]$ -module homomorphism.

In addition, it still needs to show that  $\varphi_{\tau}$  is an isomorphism. So we try to see its inverse. We can define a map  $\psi_{\tau}$ : CDer<sub> $\tau^{-1}\sigma$ </sub>( $\mathcal{R}$ )  $\rightarrow$  CDer<sub> $\sigma,\tau$ </sub>( $\mathcal{R}$ ) by  $\psi_{\tau}(d) = \tau d$  for any d in CDer<sub> $\tau^{-1}\sigma$ </sub>( $\mathcal{R}$ ). Similarly, we can verify that  $\psi_{\tau}$  is a well-defined  $\mathbb{C}[\partial]$ -module homomorphism. What's more,  $\psi_{\tau}\varphi_{\tau} = \mathrm{id}_{\mathrm{CDer}_{\sigma,\tau}(\mathcal{R})}$  and  $\varphi_{\tau}\psi_{\tau} = \mathrm{id}_{\mathrm{CDer}_{\tau^{-1}\sigma}(\mathcal{R})}$ , which means  $\psi_{\tau}$  is the inverse of  $\varphi_{\tau}$ . Therefore, CDer<sub> $\sigma,\tau$ </sub>( $\mathcal{R}$ ) and CDer<sub> $\tau^{-1}\sigma$ </sub>( $\mathcal{R}$ ) are isomorphic as  $\mathbb{C}[\partial]$ -modules, and thus rank(CDer<sub> $\sigma,\tau$ </sub>( $\mathcal{R}$ )) = rank(CDer<sub> $\tau^{-1}\sigma$ </sub>( $\mathcal{R}$ )).  $\Box$ 

Proposition 3.1 means that the study of  $\text{CDer}_{\sigma,\tau}(\mathcal{R})$  with two parameters  $\sigma, \tau$  can be reduced to the study of  $\text{CDer}_{\sigma'}(\mathcal{R})$  with one parameter  $\sigma' = \tau^{-1}\sigma$ . Particularly, if we take  $\tau = \sigma$ , then  $\text{CDer}_{\sigma,\sigma}(\mathcal{R})$  and  $\text{CDer}(\mathcal{R})$  are isomorphic as  $\mathbb{C}[\partial]$ -modules. Moreover, we may extend this isomorphic relation to the level of Lie conformal algebras.

**Proposition 3.2.** Let  $\mathcal{R}$  be a Lie conformal algebra. If  $\sigma \in G$ , then there exists a Lie conformal algebra structure  $[-_{\lambda}-]^{\sigma}$  on  $\operatorname{Der}_{\sigma,\sigma}(\mathcal{R})$  such that  $\operatorname{Der}_{\sigma,\sigma}(\mathcal{R}) \cong \operatorname{CDer}(\mathcal{R})$  as Lie conformal algebras.

*Proof.* Define a  $\lambda$ -bracket  $[-_{\lambda}-]^{\sigma}$  on  $\text{CDer}_{\sigma,\sigma}(\mathcal{R}) \times \text{CDer}_{\sigma,\sigma}(\mathcal{R})$  as follow:

$$[f_{\lambda}g]^{\sigma} = \varphi_{\sigma}^{-1}([(\varphi_{\sigma}(f))_{\lambda}(\varphi_{\sigma}(g))]), \quad \forall f, g \in \mathrm{CDer}_{\sigma,\sigma}(\mathcal{R}),$$

where  $\varphi_{\sigma}$  is defined as Proposition 3.1. It's obvious that  $[-_{\lambda}-]^{\sigma}$  is well-defined since  $\varphi_{\sigma}$  is a bijective map. And it is bilinear because both  $\varphi_{\sigma}$  and  $\varphi_{\sigma}^{-1}$  are  $\mathbb{C}[\partial]$ -module homomorphisms.

A direct computation shows that

$$\begin{aligned} [\partial f_{\lambda}g]^{\sigma} &= \varphi_{\sigma}^{-1}([(\varphi_{\sigma}(\partial f))_{\lambda}(\varphi_{\sigma}(g))]) \\ &= \varphi_{\sigma}^{-1}([(\varphi_{\sigma}(-\lambda f))_{\lambda}(\varphi_{\sigma}(g))]) = -\lambda\varphi_{\sigma}^{-1}([(\varphi_{\sigma}(f))_{\lambda}(\varphi_{\sigma}(g))]) = -\lambda[f_{\lambda}g]^{\sigma}, \end{aligned}$$

and

$$[f_{\lambda}g]^{\sigma} = \varphi_{\sigma}^{-1}([(\varphi_{\sigma}(f))_{\lambda}(\varphi_{\sigma}(g))]) = -\varphi_{\sigma}^{-1}([(\varphi_{\sigma}(g))_{-\partial-\lambda}(\varphi_{\sigma}(f))]) = -[g_{-\partial-\lambda}f]^{\sigma},$$

for any f, g in  $\text{CDer}_{\sigma,\sigma}(\mathcal{R})$ .

To check the Jacobi identity, we compute

$$\begin{split} & [[f_{\lambda}g]^{o}_{\lambda+\mu}h]^{o} = [\varphi_{\sigma}^{-1}([(\varphi_{\sigma}(f))_{\lambda}(\varphi_{\sigma}(g))])_{\lambda+\mu}h]^{o} \\ &= \varphi_{\sigma}^{-1}([\varphi_{\sigma}(\varphi_{\sigma}^{-1}([(\varphi_{\sigma}(f))_{\lambda}(\varphi_{\sigma}(g))])_{\lambda+\mu}(\varphi_{\sigma}(h))]) \\ &= \varphi_{\sigma}^{-1}([[(\varphi_{\sigma}(f))_{\lambda}(\varphi_{\sigma}(g))]_{\lambda+\mu}(\varphi_{\sigma}(h))]), \end{split}$$

for any *f*, *g* in  $\text{CDer}_{\sigma,\sigma}(\mathcal{R})$ . Similarly,

$$[f_{\lambda}[g_{\mu}h]^{\sigma}]^{\sigma} = \varphi_{\sigma}^{-1}([(\varphi_{\sigma}(f))_{\lambda}[(\varphi_{\sigma}(g))_{\mu}(\varphi_{\sigma}(h))]]),$$

$$[g_{\mu}[f_{\lambda}h]^{\sigma}]^{\sigma} = \varphi_{\sigma}^{-1}([(\varphi_{\sigma}(g))_{\mu}[(\varphi_{\sigma}(f))_{\lambda}(\varphi_{\sigma}(h))]]).$$

So

$$\begin{split} & [[f_{\lambda}g]_{\lambda+\mu}^{\sigma}h]^{\sigma} - [f_{\lambda}[g_{\mu}h]^{\sigma}]^{\sigma} + [g_{\mu}[f_{\lambda}h]^{\sigma}]^{\sigma} \\ &= \varphi_{\sigma}^{-1}([[(\varphi_{\sigma}(f))_{\lambda}(\varphi_{\sigma}(g))]_{\lambda+\mu}(\varphi_{\sigma}(h))]) - \varphi_{\sigma}^{-1}([(\varphi_{\sigma}(f))_{\lambda}[(\varphi_{\sigma}(g))_{\mu}(\varphi_{\sigma}(h))]]) \\ &+ \varphi_{\sigma}^{-1}([(\varphi_{\sigma}(g))_{\mu}[(\varphi_{\sigma}(f))_{\lambda}(\varphi_{\sigma}(h))]]) \\ &= \varphi_{\sigma}^{-1}([[(\varphi_{\sigma}(f))_{\lambda}(\varphi_{\sigma}(g))]_{\lambda+\mu}(\varphi_{\sigma}(h))] - [\varphi_{\sigma}(f)_{\lambda}[(\varphi_{\sigma}(g))_{\mu}(\varphi_{\sigma}(h))]] \\ &+ [(\varphi_{\sigma}(g))_{\mu}[(\varphi_{\sigma}(f))_{\lambda}(\varphi_{\sigma}(h))]]) \\ &= \varphi_{\sigma}^{-1}(0) = 0, \end{split}$$

which means that  $[f_{\lambda}[g_{\mu}h]^{\sigma}]^{\sigma} = [[f_{\lambda}g]^{\sigma}_{\lambda+\mu}h]^{\sigma} + [g_{\mu}[f_{\lambda}h]^{\sigma}]^{\sigma}$ . Hence,  $(\text{CDer}_{\sigma,\sigma}(\mathcal{R}), [-_{\lambda}-]^{\sigma})$  is a Lie conformal algebra.

To complete the proof, it still needs to show that  $\varphi_{\sigma}$  is a Lie conformal algebras homomorphism. Actually,  $\varphi_{\sigma}([f_{\lambda}g]^{\sigma}) = \varphi_{\sigma}(\varphi_{\sigma}^{-1}([(\varphi_{\sigma}(f))_{\lambda}(\varphi_{\sigma}(g))])) = [(\varphi_{\sigma}(f))_{\lambda}(\varphi_{\sigma}(g))]$  and  $\varphi_{\sigma}$  is a Lie conformal algebras homomorphism between  $\text{CDer}_{\sigma,\sigma}(\mathcal{R})$  and  $\text{CDer}(\mathcal{R})$ , as desired.  $\Box$ 

Recall that the center of a Lie conformal algebra  $\mathcal{R}$  is the set  $Z(\mathcal{R}) = \{a \in \mathcal{R} \mid [a_{\lambda}b] = 0, \forall b \in \mathcal{R}\}$ , and the centralizer of a in  $\mathcal{R}$  is the set  $Z_a(\mathcal{R}) = \{b \in \mathcal{R} \mid [a_{\lambda}b] = 0\}$ .

**Proposition 3.3.** Let  $\sigma$  and  $\tau$  be two elements in G such that  $(\sigma - \tau)(\mathcal{R}) \subseteq Z(\mathcal{R})$ . Then  $\operatorname{CDer}_{\sigma}(\mathcal{R}) = \operatorname{CDer}_{\tau}(\mathcal{R})$ . In addition, if  $(\sigma - \operatorname{id}_{\mathcal{R}})(\mathcal{R}) \subseteq Z(\mathcal{R})$ , then  $\operatorname{CDer}_{\sigma}(\mathcal{R}) = \operatorname{CDer}(\mathcal{R})$  is a Lie conformal subalgebra of  $\operatorname{Cend}(\mathcal{R})$ .

*Proof.* For any *d* in  $\text{CDer}_{\sigma}(\mathcal{R})$  and since  $(\sigma - \tau)(\mathcal{R}) \subseteq Z(\mathcal{R})$ , we have

 $[(d_{\lambda}(a))_{\lambda+\mu}((\sigma-\tau)(b))] = 0, \quad \forall a, b \in \mathcal{R},$ 

that is  $[(d_{\lambda}(a))_{\lambda+\mu}(\sigma(b))] = [(d_{\lambda}(a))_{\lambda+\mu}(\tau(b))]$ . So we can get

 $d_{\lambda}([a_{\mu}b]) = [(d_{\lambda}(a))_{\lambda+\mu}(\sigma(b))] + [a_{\mu}(d_{\lambda}(b))] = [(d_{\lambda}(a))_{\lambda+\mu}(\tau(b))] + [a_{\mu}(d_{\lambda}(b))],$ 

which implies that  $d \in \text{CDer}_{\tau}(\mathcal{R})$  and  $\text{CDer}_{\sigma}(\mathcal{R}) \subseteq \text{CDer}_{\tau}(\mathcal{R})$ . By switching the roles of  $\sigma$  and  $\tau$ , we can get  $\text{CDer}_{\tau}(\mathcal{R}) \subseteq \text{CDer}_{\sigma}(\mathcal{R})$ . Consequently, we obtain  $\text{CDer}_{\sigma}(\mathcal{R}) = \text{CDer}_{\tau}(\mathcal{R})$ .

In particular, if we take  $\tau = id_{\mathcal{R}}$ , then  $CDer_{\sigma}(\mathcal{R}) = CDer(\mathcal{R})$  is a Lie conformal subalgebra of  $Cend(\mathcal{R})$ .

**Proposition 3.4.** Let G be an abelian group. If  $\sigma$  and  $\sigma'$  are two elements in G such that  $\sigma$  commutes with every element of  $\operatorname{CDer}_{\sigma'}(\mathcal{R})$  and  $\sigma'$  commutes with every element of  $\operatorname{CDer}_{\sigma}(\mathcal{R})$ , then  $[f_{\lambda}g]_{\mu} \in \operatorname{CDer}_{\sigma\sigma'}(\mathcal{R})$  for any  $f \in \operatorname{CDer}_{\sigma}(\mathcal{R})$  and  $g \in \operatorname{CDer}_{\sigma'}(\mathcal{R})$ .

*Proof.* For any  $a, b \in \mathcal{R}$ , we observe that

$$f_{\lambda}(g_{\mu-\lambda}([a_{\gamma}b])) = f_{\lambda}([(g_{\mu-\lambda}(a))_{\mu-\lambda+\gamma}(\sigma'(b))] + [a_{\gamma}(g_{\mu-\lambda}(b))])$$
  
=  $[(f_{\lambda}(g_{\mu-\lambda}(a)))_{\mu+\gamma}(\sigma(\sigma'(b)))] + [(g_{\mu-\lambda}(a))_{\mu-\lambda+\gamma}(f_{\lambda}(\sigma'(b)))]$   
+  $[(f_{\lambda}(a))_{\lambda+\gamma}(\sigma(g_{\mu-\lambda}(b)))] + [a_{\gamma}(f_{\lambda}(g_{\mu-\lambda}(b)))],$ 

and

$$g_{\mu-\lambda}(f_{\lambda}([a_{\gamma}b])) = g_{\mu-\lambda}([(f_{\lambda}(a))_{\lambda+\gamma}(\sigma(b))] + [a_{\gamma}(f_{\lambda}(b))])$$
  
=  $[(g_{\mu-\lambda}(f_{\lambda}(a)))_{\mu+\gamma}(\sigma'(\sigma(b)))] + [(f_{\lambda}(a))_{\lambda+\gamma}(g_{\mu-\lambda}(\sigma(b)))]$   
+  $[(g_{\mu-\lambda}(a))_{\mu-\lambda+\gamma}(\sigma'(f_{\lambda}(b)))] + [a_{\gamma}(g_{\mu-\lambda}(f_{\lambda}(b)))].$ 

According to the assumption, one can obtain that  $\sigma$  commutes with g and  $\sigma'$  commutes with f. By the fact that  $\sigma \sigma' = \sigma' \sigma$ , we can easily get

$$\begin{split} & [f_{\lambda}g]_{\mu}([a_{\gamma}b]) = (f_{\lambda}g_{\mu-\lambda} - g_{\mu-\lambda}f_{\lambda})([a_{\gamma}b]) = f_{\lambda}(g_{\mu-\lambda}([a_{\gamma}b])) - g_{\mu-\lambda}(f_{\lambda}([a_{\gamma}b])) \\ &= [(f_{\lambda}(g_{\mu-\lambda}(a)))_{\mu+\gamma}(\sigma(\sigma'(b)))] + [(g_{\mu-\lambda}(a))_{\mu-\lambda+\gamma}(f_{\lambda}(\sigma'(b)))] \\ &+ [(f_{\lambda}(a))_{\lambda+\gamma}(\sigma(g_{\mu-\lambda}(b)))] + [a_{\gamma}(f_{\lambda}(g_{\mu-\lambda}(b)))] \\ &- [(g_{\mu-\lambda}(f_{\lambda}(a)))_{\mu+\gamma}(\sigma'(\sigma(b)))] - [(f_{\lambda}(a))_{\lambda+\gamma}(g_{\mu-\lambda}(\sigma(b)))] \\ &- [(g_{\mu-\lambda}(a))_{\mu-\lambda+\gamma}(\sigma'(f_{\lambda}(b)))] - [a_{\gamma}(g_{\mu-\lambda}(f_{\lambda}(b)))] \\ &= [([f_{\lambda}g]_{\mu}(a))_{\mu+\gamma}(\sigma(\sigma'(b)))] + [a_{\gamma}([f_{\lambda}g]_{\mu}(b))]. \end{split}$$

Therefore,  $[f_{\lambda}g]_{\mu} \in \text{CDer}_{\sigma\sigma'}(\mathcal{R}).$ 

**Corollary 3.5.** Let  $\sigma$  be an idempotent automorphism of *G*. If  $\sigma$  commutes with every element of  $\text{CDer}_{\sigma}(\mathcal{R})$ , then  $\text{CDer}_{\sigma}(\mathcal{R})$  is a Lie conformal algebra.

*Proof.* Note that  $\text{CDer}_{\sigma}(\mathcal{R})$  is a  $\mathbb{C}[\partial]$ -module, thus it suffices to verify that  $\text{CDer}_{\sigma}(\mathcal{R})$  is closed under the  $\lambda$ -bracket, that is

$$[f_{\lambda}g]_{\mu} = f_{\lambda}g_{\mu-\lambda} - g_{\mu-\lambda}f_{\lambda} \in \mathrm{CDer}_{\sigma}(\mathcal{R}), \quad \forall f, g \in \mathrm{CDer}_{\sigma}(\mathcal{R}).$$

With a similar discussion as that in the proof of Proposition 3.4,

 $[f_{\lambda}g]_{\mu}([a_{\gamma}b])) = [([f_{\lambda}g]_{\mu}(a))_{\mu+\gamma}\sigma^{2}(b)] + [a_{\gamma}([f_{\lambda}g]_{\mu}(b))], \quad \forall a, b \in \mathcal{R}.$ 

By the fact that  $\sigma^2 = \sigma$ , we can deduce that  $[f_{\lambda}g]_{\mu} \in \text{CDer}_{\sigma}(\mathcal{R})[\lambda]$ . Therefore,  $\text{CDer}_{\sigma}(\mathcal{R})$  is a Lie conformal algebra.  $\Box$ 

**Proposition 3.6.** Let  $\sigma, \tau \in G$  and  $d \in \text{CDer}_{\sigma}(\mathcal{R})$ . Then  $\tau d \in \text{CDer}_{\tau\sigma,\tau}(\mathcal{R})$  and  $d\tau \in \text{CDer}_{\sigma\tau,\tau}(\mathcal{R})$ .

Proof. A direct computation shows that

$$\begin{aligned} \tau d_{\lambda}([a_{\mu}b]) &= \tau([(d_{\lambda}(a))_{\lambda+\mu}(\sigma(b))] + [a_{\mu}(d_{\lambda}(b))]) \\ &= \tau([(d_{\lambda}(a))_{\lambda+\mu}(\sigma(b))]) + \tau([a_{\mu}(d_{\lambda}(b))]) \\ &= [(\tau(d_{\lambda}(a)))_{\lambda+\mu}(\tau(\sigma(b)))] + [(\tau(a))_{\mu}(\tau(d_{\lambda}(b)))], \end{aligned}$$

for any  $a, b \in \mathcal{R}$ . Thus,  $\tau d \in \text{CDer}_{\tau\sigma,\tau}(\mathcal{R})$ . Similarly, we can obtain that  $d\tau \in \text{CDer}_{\sigma\tau,\tau}(\mathcal{R})$ .  $\Box$ 

**Proposition 3.7.** If  $\sigma$ ,  $\tau$  are two elements in G such that  $c - \sigma^{-1}\tau(c) \notin Z_c(\mathcal{R})$  for any nonzero element c in  $\mathcal{R}$ , then  $\operatorname{CDer}_{\sigma}(\mathcal{R}) \cap \operatorname{CDer}_{\tau}(\mathcal{R}) = \{0\}.$ 

*Proof.* Assume that there exists a nonzero element  $d \in \text{CDer}_{\sigma}(\mathcal{R}) \cap \text{CDer}_{\tau}(\mathcal{R})$ . Then there exists an element  $a_0 \in \mathcal{R}$  such that  $d_{\lambda}(a_0) \neq 0$ . So

 $[(d_{\lambda}(a))_{\lambda+\mu}(\sigma(b))] = [(d_{\lambda}(a))_{\lambda+\mu}(\tau(b))], \quad \forall a, b \in \mathcal{R},$ 

which implies that

 $[(\sigma^{-1}(d_{\lambda}(a)))_{\lambda+\mu}(b-\sigma^{-1}\tau(b))]=0.$ 

If we take  $a = a_0$  and  $b = b_0 := \sigma^{-1} d_\lambda(a_0)$ , then we can get

 $[b_{0_{\lambda+\mu}}(b_0 - \sigma^{-1}\tau(b_0))] = 0,$ 

which means that  $b_0 - \sigma^{-1}\tau(b_0) \in Z_{b_0}(\mathcal{R})$ . Since  $c - \sigma^{-1}\tau(c) \notin Z_c(\mathcal{R})$  with  $c \in \mathcal{R}$  and  $c \neq 0$ , we can deduce that  $b_0 = 0$ . According to the assumption,  $d_\lambda(a_0) \neq 0$  and  $\sigma^{-1}$  is an isomorphism, we observe that  $b_0 = \sigma^{-1}d_\lambda(a_0) \neq 0$ , which is a contradiction.  $\Box$ 

**Proposition 3.8.** *If*  $d \in \text{CDer}_{\sigma}(\mathcal{R})$  *is an element such that*  $(d_{\lambda}\sigma - \sigma d_{\lambda})(\mathcal{R}) \subseteq Z(\mathcal{R})$ *, then*  $[\mathcal{R}_{\lambda}\mathcal{R}]$  *is contained in the kernel of*  $d_{\lambda}\sigma - \sigma d_{\lambda}$ *.* 

Proof. We compute, respectively,

$$d_{\lambda}(\sigma([a_{\mu}b])) = d_{\lambda}([(\sigma(a))_{\mu}(\sigma(b))]) = [(d_{\lambda}(\sigma(a)))_{\lambda+\mu}(\sigma^{2}(b))] + [(\sigma(a))_{\mu}(d_{\lambda}(\sigma(b)))],$$

and

$$\sigma(d_{\lambda}([a_{\mu}b])) = \sigma([(d_{\lambda}(a))_{\lambda+\mu}(\sigma(b))]) + [a_{\mu}(d_{\lambda}(b))]$$
$$= [(\sigma(d_{\lambda}(a)))_{\lambda+\mu}(\sigma^{2}(b))] + [(\sigma(a))_{\mu}(\sigma(d_{\lambda}(b)))],$$

for any  $a, b \in \mathcal{R}$ . Since  $(d_{\lambda}\sigma - \sigma d_{\lambda})(\mathcal{R}) \subseteq Z(\mathcal{R})$ , we can get

$$\begin{aligned} &(d_{\lambda}\sigma - \sigma d_{\lambda})([a_{\mu}b]) = d_{\lambda}\sigma([a_{\mu}b]) - \sigma d_{\lambda}([a_{\mu}b]) \\ &= [d_{\lambda}(\sigma(a))_{\lambda+\mu}(\sigma^{2}(b))] + [(\sigma(a))_{\mu}(d_{\lambda}(\sigma(b)))] \\ &- [(\sigma(d_{\lambda}(a)))_{\lambda+\mu}(\sigma^{2}(b))] - [(\sigma(a))_{\mu}(\sigma(d_{\lambda}(b)))] \\ &= [((d_{\lambda}\sigma - \sigma d_{\lambda})(a))_{\lambda+\mu}(\sigma^{2}(b))] + [(\sigma(a))_{\mu}((d_{\lambda}\sigma - \sigma d_{\lambda})(b))] \\ &= 0. \end{aligned}$$

Consequently,  $[\mathcal{R}_{\lambda}\mathcal{R}]$  is contained in the kernel of  $d_{\lambda}\sigma - \sigma d_{\lambda}$ .

#### 4. The interiors of conformal G-derivations

In this section, we will investigate the structures of  $\text{CDer}_{\sigma}(\mathcal{R})$  and  $\text{CDer}_{G}(\mathcal{R})$ . To understand this, we focus on a special class of  $\text{CDer}_{\sigma}(\mathcal{R})$  called the *interiors* of *G*-derivations,  $\text{CDer}_{G}^{\star}(\mathcal{R})$ . In addition, we study the rationality of the Hilbert series for the direct sum of these interiors of conformal *G*- derivations when *G* is a cyclic subgroup.

Set

$$\operatorname{CDer}_{\sigma}^{+}(\mathcal{R}) = \{ d \in \operatorname{CDer}_{\sigma}(\mathcal{R}) \mid d_{\lambda}\sigma = \sigma d_{\lambda} \}, \ \operatorname{CDer}_{\sigma}^{-}(\mathcal{R}) = \{ d \in \operatorname{CDer}_{\sigma}(\mathcal{R}) \mid d_{\lambda}\tau = \tau d_{\lambda}, \ \forall \tau \in G \}.$$

It is obvious that  $\text{CDer}_{\sigma}^{-}(\mathcal{R}) \subseteq \text{CDer}_{\sigma}^{+}(\mathcal{R}) \subseteq \text{CDer}_{\sigma}(\mathcal{R})$  and they are all  $\mathbb{C}[\partial]$ -modules. We now consider some kind of "sum" of them respectively and observe how close these sums are to  $\text{CDer}_{G}(\mathcal{R})$ .

Define

 $\operatorname{CDer}^+_G(\mathcal{R}) := \oplus_{\sigma \in G} \operatorname{CDer}^+_{\sigma}(\mathcal{R}), \ \operatorname{CDer}^-_G(\mathcal{R}) := \oplus_{\sigma \in G} \operatorname{CDer}^-_{\sigma}(\mathcal{R}),$ 

called the *big interior* and the *small interior* of  $\text{CDer}_G(\mathcal{R})$  respectively. Besides, we may define

 $\operatorname{CDer}_{G}^{\star}(\mathcal{R}) := \bigoplus_{\sigma \in G} \operatorname{CDer}_{\sigma}(\mathcal{R}),$ 

called the *interior* of  $\text{CDer}_G(\mathcal{R})$ . Obviously,  $\text{CDer}_G^-(\mathcal{R}) \subseteq \text{CDer}_G^+(\mathcal{R}) \subseteq \text{CDer}_G^+(\mathcal{R})$ .

**Example 4.1.** Let  $G = \{id_{\mathcal{R}}\}$ , the trivial group. Since  $\operatorname{CDer}_{G}^{-}(\mathcal{R}) = \operatorname{CDer}_{G}^{+}(\mathcal{R})$ , we have  $\operatorname{CDer}_{G}^{-}(\mathcal{R}) = \operatorname{CDer}_{G}(\mathcal{R}) = \operatorname{CDer}_{G}(\mathcal{R}) = \operatorname{CDer}_{G}(\mathcal{R}) = \operatorname{CDer}_{G}(\mathcal{R})$ .

**Example 4.2.** Let *G* be a cyclic group generator by  $\sigma$ . If  $* \in \{-, +, \star\}$ , then

 $\operatorname{CDer}^*_G(\mathcal{R}) = \operatorname{CDer}^*_{\langle \sigma \rangle}(\mathcal{R}) = \bigoplus_{k \in \mathbb{Z}} \operatorname{CDer}^*_{\sigma^k}(\mathcal{R}),$ 

where  $\sigma^0 = \mathrm{id}_{\mathcal{R}}$ ,  $\sigma^1 = \sigma$  and  $\sigma^k = \sigma^{k-1}\sigma$ . For convenience, we denote  $\mathrm{CDer}_{\sigma^k}^{\star}(\mathcal{R})$  by  $\mathrm{CDer}_{\sigma^k}(\mathcal{R})$ . In this case,  $\mathrm{CDer}_{\langle\sigma\rangle}^{\star}(\mathcal{R})$  is a  $\mathbb{Z}$ -graded  $\mathbb{C}[\partial]$ -module and recall that the Hilbert series of  $\mathrm{CDer}_{\langle\sigma\rangle}^{\star}(\mathcal{R})$  is defined by

$$H(\operatorname{CDer}^*_{\langle \sigma \rangle}(\mathcal{R}), t) := \sum_{k \in \mathbb{Z}} \operatorname{rank}(\operatorname{CDer}^*_{\sigma^k}(\mathcal{R})) t^k.$$

If  $\sigma$  is of finite order, then  $H(CDer^*_{(\sigma)}(\mathcal{R}), t)$  is a polynomial function in  $\mathbb{Z}[t]$ .

**Proposition 4.3.** If G is an abelian group, then  $\text{CDer}_{G}^{-}(\mathcal{R})$  is a Lie conformal algebra with the  $\lambda$ -bracket  $[-_{\lambda}-]$ .

*Proof.* Since  $\text{CDer}_{G}^{-}(\mathcal{R})$  is a  $\mathbb{C}[\partial]$ -module, it is sufficient to show that  $\text{CDer}_{G}^{-}(\mathcal{R})$  is closed under the  $\lambda$ -bracket. For any  $f \in \text{CDer}_{\sigma}^{-}(\mathcal{R})$  and  $g \in \text{CDer}_{\tau}^{-}(\mathcal{R})$  with  $\sigma, \tau \in G$  and  $a, b \in \mathcal{R}$ , we have

$$f_{\lambda}(g_{\mu-\lambda}([a_{\gamma}b])) = f_{\lambda}([(g_{\mu-\lambda}(a))_{\mu-\lambda+\gamma}(\tau(b))] + [a_{\gamma}(g_{\mu-\lambda}(b))])$$
  
=  $[(f_{\lambda}(g_{\mu-\lambda}(a)))_{\mu+\gamma}(\sigma(\tau(b)))] + [(g_{\mu-\lambda}(a))_{\mu-\lambda+\gamma}(f_{\lambda}(\tau(b)))]$   
+  $[(f_{\lambda}(a))_{\lambda+\gamma}(\sigma(g_{\mu-\lambda}(b)))] + [a_{\gamma}(f_{\lambda}(g_{\mu-\lambda}(b)))],$ 

and

$$g_{\mu-\lambda}(f_{\lambda}([a_{\gamma}b])) = g_{\mu-\lambda}([(f_{\lambda}(a))_{\lambda+\gamma}(\sigma(b))] + [a_{\gamma}(f_{\lambda}(b))])$$
  
=  $[(g_{\mu-\lambda}(f_{\lambda}(a)))_{\mu+\gamma}(\tau(\sigma(b)))] + [(f_{\lambda}(a))_{\lambda+\gamma}(g_{\mu-\lambda}(\sigma(b)))]$   
+  $[(g_{\mu-\lambda}(a))_{\mu-\lambda+\gamma}(\tau(f_{\lambda}(b)))] + [a_{\gamma}(g_{\mu-\lambda}(f_{\lambda}(b)))].$ 

Since  $f_{\lambda}\tau = \tau f_{\lambda}$ ,  $g_{\mu-\lambda}\sigma = \sigma g_{\mu-\lambda}$  and *G* is abelian, we compute and get

$$\begin{split} & [f_{\lambda}g]_{\mu}([a_{\gamma}b]) = (f_{\lambda}g_{\mu-\lambda} - g_{\mu-\lambda}f_{\lambda})([a_{\gamma}b]) \\ &= [(f_{\lambda}(g_{\mu-\lambda}(a)))_{\mu+\gamma}(\sigma(\tau(b)))] + [(g_{\mu-\lambda}(a))_{\mu-\lambda+\gamma}(f_{\lambda}(\tau(b)))] \\ &+ [(f_{\lambda}(a))_{\lambda+\gamma}(\sigma(g_{\mu-\lambda}(b)))] + [a_{\gamma}(f_{\lambda}(g_{\mu-\lambda}(b)))] \\ &- [(g_{\mu-\lambda}(f_{\lambda}(a)))_{\mu+\gamma}(\tau(\sigma(b)))] - [(f_{\lambda}(a))_{\lambda+\gamma}(g_{\mu-\lambda}(\sigma(b)))] \\ &- [(g_{\mu-\lambda}(a))_{\mu-\lambda+\gamma}(\tau(f_{\lambda}(b)))] - [a_{\gamma}(g_{\mu-\lambda}(f_{\lambda}(b)))] \\ &= [(f_{\lambda}g_{\mu-\lambda} - g_{\mu-\lambda}f_{\lambda})(a)_{\mu+\gamma}(\sigma(\tau(b)))] + [a_{\gamma}((f_{\lambda}g_{\mu-\lambda} - g_{\mu-\lambda}f_{\lambda})(b))] \\ &= [([f_{\lambda}g]_{\mu}(a))_{\mu+\gamma}(\sigma(\tau(b)))] + [a_{\gamma}([f_{\lambda}g]_{\mu}(b))], \end{split}$$

which implies that  $[f_{\lambda}g]_{\mu} \in \text{CDer}_{\sigma\tau}(\mathcal{R})[\lambda]$ . Obviously,  $[f_{\lambda}g]_{\mu}$  commutes with every element in *G*, and so  $[f_{\lambda}g]_{\mu} \in \text{CDer}_{\sigma\tau}^{-}(\mathcal{R})[\lambda] \subseteq \text{CDer}_{G}^{-}(\mathcal{R})[\lambda]$ . Consequently,  $\text{CDer}_{G}^{-}(\mathcal{R})$  is a Lie conformal algebra.  $\Box$ 

According to the above results, we can see that  $\text{CDer}_G(\mathcal{R})$  may be very large and complicated. From now on, we will focus on the interiors of  $\text{CDer}_G(\mathcal{R})$  where *G* is an infinite cyclic group. Particularly, we will investigate the important invariant, the Hilbert series, which encodes the ranks of submodules into an infinite series.

**Proposition 4.4.** Let  $G = \langle \sigma \rangle$  be an infinite cyclic group. If there exists  $l_0 \in \mathbb{N}^+$  and  $d \in \text{CDer}_{\sigma^{l_0}}(\mathcal{R})$  such that  $\phi_d$  is invertible restricted to  $\text{CDer}_{\sigma^l}(\mathcal{R})$  for all  $i \in \mathbb{Z} \setminus \{l_0\}$ , then  $H(\text{CDer}_G^-(\mathcal{R}), t)$  is a rational function.

*Proof.* Since *G* is an infinite cyclic group generated by  $\sigma$ ,  $\phi_d : \text{CDer}_{\sigma^k}(\mathcal{R}) \to \text{CDer}_{\sigma^{k+l_0}}(\mathcal{R})$  is a  $\mathbb{C}[\partial]$ -module isomorphism for all  $k \in \mathbb{Z} \setminus \{l_0\}$  by Proposition 4.3. Hence,

 $\operatorname{rank}(\operatorname{CDer}_{\sigma^k}^{-}(\mathcal{R})) = \operatorname{rank}(\operatorname{CDer}_{\sigma^{k+l_0}}^{-}(\mathcal{R})) = \operatorname{rank}(\operatorname{CDer}_{\sigma^{k-l_0}}^{-}(\mathcal{R}))$ 

for each  $k \in \mathbb{N} \setminus \{l_0\}$ . Obviously,

$$H(\operatorname{CDer}_{G}^{-}(\mathcal{R}), t) = \sum_{k \in \mathbb{Z}} \operatorname{rank}(\operatorname{CDer}_{\sigma^{k}}^{-}(\mathcal{R}))t^{k} = \sum_{k=l_{0}+1}^{\infty} \operatorname{rank}(\operatorname{CDer}_{\sigma^{k}}^{-}(\mathcal{R}))t^{k} + \sum_{-\infty}^{k=l_{0}} \operatorname{rank}(\operatorname{CDer}_{\sigma^{k}}^{-}(\mathcal{R}))t^{k}.$$

In addition,

$$\begin{split} &\sum_{k=l_0+1}^{\infty} \operatorname{rank}(\operatorname{CDer}_{\sigma^k}(\mathcal{R}))t^k \\ &= (m_0 t^{l_0+1} + m_1 t^{l_0+2} + \dots + m_{l_0-1} t^{2l_0}) + (m_0 t^{2l_0+1} + m_1 t^{2l_0+2} + \dots + m_{l_0-1} t^{3l_0}) + \dots \\ &= (m_0 + m_1 t + \dots + m_{l_0-1} t^{l_0-1})t^{l_0+1} + (m_0 + m_1 t + \dots + m_{l_0-1} t^{l_0-1})t^{2l_0+1} + \dots \\ &= t^{l_0+1}(m_0 + m_1 t + \dots + m_{l_0-1} t^{l_0-1})(1 + t^{l_0} + t^{2l_0} + \dots) \\ &= t^{l_0+1}(m_0 + m_1 t + \dots + m_{l_0-1} t^{l_0-1})\frac{1}{1 - t^{l_0}} \\ &= \frac{t^{l_0+1}\sum_{i=0}^{l_0-1} m_i t^i}{1 - t^{l_0}} \end{split}$$

where  $m_i = \operatorname{rank}(\operatorname{CDer}_{\sigma^{l_0+1+i}}^{-}(\mathcal{R}))$  for  $0 \le i \le l_0 - 1$ . Similarly,

$$\sum_{-\infty}^{k=l_0} \operatorname{rank}(\operatorname{CDer}_{\sigma^k}^{-}(\mathcal{R}))t^k$$

$$= \sum_{k=1}^{l_0} \operatorname{rank}(\operatorname{CDer}_{\sigma^k}^{-}(\mathcal{R}))t^k + \sum_{-\infty}^{k=0} \operatorname{rank}(\operatorname{CDer}_{\sigma^k}^{-}(\mathcal{R}))t^k$$

$$= \sum_{k=1}^{l_0} \operatorname{rank}(\operatorname{CDer}_{\sigma^k}^{-}(\mathcal{R}))t^k + \sum_{k=0}^{\infty} \operatorname{rank}(\operatorname{CDer}_{\sigma^{-k}}^{-}(\mathcal{R}))t^k$$

$$= m_0t + \dots + m_{l_0-1}t^{l_0} + (m_0t^{-l_0+1} + m_1t^{-l_0+2} + \dots + m_{l_0-1}) + (m_0t^{-2l_0+1} + m_1t^{-2l_0+2} + \dots + m_{l_0-1}t^{-l_0}) + \dots$$

$$= m_0t + \dots + m_{l_0-1}t^{l_0} + (m_0t^{-l_0+1} + m_1t^{-l_0+2} + \dots + m_{l_0-1})(1 + t^{-l_0} + \dots)$$

$$= (m_0 + \dots + m_{l_0-1}t^{l_0-1})t + \frac{\sum_{i=0}^{l_0-1}m_it^{-(l_0-1-i)}}{1 - t^{-l_0}}.$$

Therefore,

$$H(\operatorname{CDer}_{G}^{-}(\mathcal{R}), t)$$

$$= \frac{t^{l_{0}+1} \sum_{i=0}^{l_{0}-1} m_{i}t^{i}}{1-t^{l_{0}}} + (m_{0}+\dots+m_{l_{0}-1}t^{l_{0}-1})t + \frac{\sum_{i=0}^{l_{0}-1} m_{i}t^{-(l_{0}-1-i)}}{1-t^{-l_{0}}}$$

$$= \frac{t}{1-t^{l_{0}}} \sum_{i=0}^{l_{0}-1} m_{i}t^{i} + \frac{1}{1-t^{-l_{0}}} \sum_{i=0}^{l_{0}-1} m_{i}t^{-(l_{0}-1-i)}.$$

Consequently,  $H(CDer_G^{-}(\mathcal{R}), t)$  is a rational function.  $\Box$ 

## 5. Applications

In this section, we study the relation between conformal ( $\sigma$ ,  $\tau$ )-derivation and some well-known (generalized) conformal derivations of a Lie conformal algebra  $\mathcal{R}$ , such as centroids and conformal ( $\alpha$ ,  $\beta$ ,  $\gamma$ )-derivations.

## 5.1. Relation with centroids

Recall that an element d in Cend( $\mathcal{R}$ ) is called a *centroid* of  $\mathcal{R}$ , if it satisfies

$$[(d_{\lambda}(a))_{\lambda+\mu}b] = [a_{\mu}(d_{\lambda}(b))] = d_{\lambda}([a_{\mu}b]), \ \forall \ a, b \in \mathcal{R}.$$

Denote by  $C(\mathcal{R})$  the sets of all centroids of  $\mathcal{R}$ .

We denote ad :  $\mathcal{R} \rightarrow \text{Cend}(\mathcal{R})$  the adjoint map sending *a* to ad(*a*) with ad(*a*)<sub> $\lambda$ </sub>(*b*) = [*a*<sub> $\lambda$ </sub>*b*], where *a*, *b*  $\in \mathcal{R}$ . And we write ad( $\mathcal{R}$ ) for the set {ad(*a*) | *a*  $\in \mathcal{R}$ }.

**Proposition 5.1.** Let  $\sigma \in G$  and  $d \in C(\mathcal{R}) \cap CDer_{\sigma}(\mathcal{R})$ . Then  $ad(d_{\lambda}(a))_{\mu} = 0$  for any  $a \in \mathcal{R}$ . In addition, if  $Z(\mathcal{R}) = \{0\}$ , then  $C(\mathcal{R}) \cap CDer_{\sigma}(\mathcal{R}) = \{0\}$ .

*Proof.* For any  $d \in C(\mathcal{R}) \cap CDer_{\sigma}(\mathcal{R})$  and  $a, b \in \mathcal{R}$ , we have

$$d_{\lambda}([a_{\gamma}b]) = [(d_{\lambda}(a))_{\lambda+\gamma}(\sigma(b))] + [a_{\gamma}(d_{\lambda}(b))],$$

and

 $[a_{\gamma}(d_{\lambda}(b))] = d_{\lambda}([a_{\lambda}b]),$ 

which implies

$$[(d_{\lambda}(a))_{\lambda+\nu}(\sigma(b))] = d_{\lambda}([a_{\nu}b]) - [a_{\nu}(d_{\lambda}(b))] = 0.$$

Since  $\sigma$  is a bijective map, we can obtain  $d_{\lambda}(a) \in Z(\mathcal{R})[\lambda] = \text{Ker}(\text{ad})[\lambda]$ . Hence,  $\text{ad}(d_{\lambda}(a))_{\mu} = 0$  for any  $a \in \mathcal{R}$ . Particularly, if  $Z(\mathcal{R}) = \{0\}$ , then d = 0. Thus,  $C(\mathcal{R}) \cap \text{CDer}_{\sigma}(\mathcal{R}) = \{0\}$ .  $\Box$ 

**Lemma 5.2.** If  $\sigma \in G$  and  $d \in \text{CDer}_{\sigma}(\mathcal{R})$ , then for any  $a \in \mathcal{R}$ ,

 $[d_{\lambda}(\mathrm{ad}(a))]_{\mu} = \sigma \mathrm{ad}(\sigma^{-1}d_{\lambda}(a))_{\mu}.$ 

Proof. A direct computation shows that

$$\begin{aligned} & [d_{\lambda}(\mathrm{ad}(a))]_{\mu}(b) = (d_{\lambda}(\mathrm{ad}(a))_{\mu-\lambda} - (\mathrm{ad}(a))_{\mu-\lambda}d_{\lambda})(b) \\ &= d_{\lambda}((\mathrm{ad}(a))_{\mu-\lambda}(b)) - (\mathrm{ad}(a))_{\mu-\lambda}(d_{\lambda}(b)) = d_{\lambda}([a_{\mu-\lambda}b]) - [a_{\mu-\lambda}(d_{\lambda}(b))] \\ &= [(d_{\lambda}(a))_{\mu}(\sigma(b))] = \sigma([(\sigma^{-1}(d_{\lambda}(a)))_{\mu}b]) = \sigma(\mathrm{ad}(\sigma^{-1}d_{\lambda}(a))_{\mu}(b)), \end{aligned}$$

for any  $b \in \mathcal{R}$ . Therefore,  $[d_{\lambda}ad(a)]_{\mu} = \sigma ad(\sigma^{-1}d_{\lambda}(a))_{\mu}$ .  $\Box$ 

**Lemma 5.3.** Let  $a \in \mathcal{R}$  and  $\sigma \in G$ . Define a map  $\phi_a^{\sigma} : \text{CDer}_{\sigma}(\mathcal{R}) \to \text{ad}(\mathcal{R})_{\gamma}$ , given by  $d \mapsto \text{ad}(\sigma^{-1}d_{\lambda}(a))$ . Then  $\phi_a^{\sigma}$  is a  $\mathbb{C}[\partial]$ -module homomorphism.

*Proof.* For any  $f, g \in \text{CDer}_{\sigma}(\mathcal{R})$  and  $b \in \mathcal{R}$ , we observe that

$$\begin{aligned} (\phi_a^{\sigma}(f_{\lambda} + g_{\mu}))(b) &= \mathrm{ad}(\sigma^{-1}((f_{\lambda} + g_{\mu})(a)))_{\gamma}(b) = [(\sigma^{-1}((f_{\lambda} + g_{\mu})(a)))_{\gamma}b] \\ &= \sigma^{-1}([((f_{\lambda} + g_{\mu})(a))_{\gamma}(\sigma(b))]) = \sigma^{-1}([(f_{\lambda}(a))_{\gamma}(\sigma(b))] + [(g_{\mu}(a))_{\gamma}(\sigma(b))]) \\ &= \sigma^{-1}([(f_{\lambda}(a))_{\gamma}(\sigma(b))]) + \sigma^{-1}([(g_{\mu}(a))_{\gamma}(\sigma(b))]) = [(\sigma^{-1}(f_{\lambda}(a)))_{\gamma}b] + [(\sigma^{-1}(g_{\mu}(a)))_{\gamma}b] \\ &= \mathrm{ad}(\sigma^{-1}(f_{\lambda}(a)))_{\gamma}(b) + \mathrm{ad}(\sigma^{-1}(g_{\mu}(a)))_{\gamma}(b) = (\phi_a^{\sigma}(f_{\lambda}) + \phi_a^{\sigma}(g_{\mu}))_{\gamma}(b), \end{aligned}$$

and

$$\begin{aligned} (\phi_a^{\sigma}(\partial f_{\lambda}))_{\gamma}(b) &= \operatorname{ad}(\sigma^{-1}(\partial f_{\lambda})(a))_{\gamma}(b) = \operatorname{ad}(\sigma^{-1}(-\lambda f_{\lambda})(a))_{\gamma}(b) \\ &= \operatorname{ad}(-\lambda \sigma^{-1} f_{\lambda}(a))_{\gamma}(b) = [-\lambda \sigma^{-1} f_{\lambda}(a)_{\gamma} b] = -\lambda [\sigma^{-1} f_{\lambda}(a)_{\gamma} b] \\ &= -\lambda \operatorname{ad}(\sigma^{-1}(f_{\lambda}(a)))_{\gamma}(b) = \partial \operatorname{ad}(\sigma^{-1}(f_{\lambda}(a)))_{\gamma}(b) = (\partial (\phi_a^{\sigma}(f_{\lambda})))_{\gamma}(b). \end{aligned}$$

Therefore,  $\phi_x^{\sigma}$  is a  $\mathbb{C}[\partial]$ -module homomorphism.  $\Box$ 

**Proposition 5.4.** *If*  $a \in \mathcal{R}$  *and*  $\sigma \in G$ *, then* 

$$\operatorname{Ker}(\phi_a^{\sigma}) = \{ d \in \operatorname{CDer}_{\sigma}(\mathcal{R}) \mid d_{\lambda}(a) \in Z(\mathcal{R})[\lambda] \}.$$

*What's more,* Ker( $\phi_a^{\sigma}$ ) *is a subalgebra of* Cend( $\mathcal{R}$ )*.* 

366

Proof. According to Lemma 5.2, we can get

$$\operatorname{Ker}(\phi_a^{\sigma}) = \{ d \in \operatorname{CDer}_{\sigma}(\mathcal{R}) \mid \operatorname{ad}(\sigma^{-1}(d_{\lambda}(a)))_{\mu}(b) = 0, \forall b \in \mathcal{R} \}$$
$$= \{ d \in \operatorname{CDer}_{\sigma}(\mathcal{R}) \mid \sigma(\operatorname{ad}(\sigma^{-1}d_{\lambda}(a))_{\mu}(b)) = 0, \forall b \in \mathcal{R} \}$$
$$= \{ d \in \operatorname{CDer}_{\sigma}(\mathcal{R}) \mid [d_{\lambda}(\operatorname{ad}(a))]_{\mu}(b) = 0, \forall b \in \mathcal{R} \}$$
$$= \{ d \in \operatorname{CDer}_{\sigma}(\mathcal{R}) \mid [(d_{\lambda}(a))_{\mu}(\sigma(b))] = 0, \forall b \in \mathcal{R} \}$$
$$= \{ d \in \operatorname{CDer}_{\sigma}(\mathcal{R}) \mid [(d_{\lambda}(a))_{\mu}b] = 0, \forall b \in \mathcal{R} \}$$
$$= \{ d \in \operatorname{CDer}_{\sigma}(\mathcal{R}) \mid [(d_{\lambda}(a))_{\mu}b] = 0, \forall b \in \mathcal{R} \}$$
$$= \{ d \in \operatorname{CDer}_{\sigma}(\mathcal{R}) \mid d_{\lambda}(a) \in Z(\mathcal{R})[\lambda] \}.$$

Moreover, it is obvious that  $\text{Ker}(\phi_a^{\sigma})$  is a  $\mathbb{C}[\partial]$ -module. We only need to show  $\text{Ker}(\phi_a^{\sigma})$  is a Lie conformal algebra. For any  $f, g \in \text{Ker}(\phi_a^{\sigma})$  and  $b \in \mathcal{R}$ , we have

$$\begin{split} & [([f_{\lambda}g]_{\mu}(a))_{\gamma}(\sigma(b))] = [(f_{\lambda}(g_{\mu-\lambda}(a)))_{\gamma}(\sigma(b))] - [(g_{\mu-\lambda}(f_{\lambda}(a)))_{\gamma}(\sigma(b))] \\ & = f_{\lambda}([(g_{\mu-\lambda}(a))_{\gamma-\lambda}b]) - [(g_{\mu-\lambda}(a))_{\gamma-\lambda}(f_{\lambda}(b))] \\ & - g_{\mu-\lambda}([(f_{\lambda}(a))_{\gamma-\mu+\lambda}b]) + [(f_{\lambda}(a))_{\gamma-\mu+\lambda}(g_{\mu-\lambda}(b))] \\ & = 0. \end{split}$$

Since  $\sigma$  is an isomorphism, we can deduce that  $[f_{\lambda}g]_{\mu}(a) \in Z(\mathcal{R})[\lambda]$ , which implies that  $[f_{\lambda}g]_{\mu}(a) \in \text{Ker}(\phi_{a}^{\sigma})[\lambda]$ . Therefore,  $\text{Ker}(\phi_{x}^{\sigma})$  is a subalgebra of  $\text{Cend}(\mathcal{R})$ .  $\Box$ 

As a corollary, we can obtain a much deeper result.

**Corollary 5.5.** Let  $\mathcal{R}$  be a centerless Lie conformal algebra. If there exists an element  $a_0 \in \mathcal{R}$  such that  $d_\lambda(a_0) \neq 0$  for all  $d \in \text{CDer}_{\sigma}(\mathcal{R})$ , then  $\text{rank}(\text{CDer}_{\sigma}(\mathcal{R})) \leq \text{rank}(\mathcal{R})$ .

*Proof.* Note that ad :  $\mathcal{R} \to \mathrm{ad}(\mathcal{R})$  is an isomorphism. Since  $Z(\mathcal{R}) = \{0\}$ ,  $\phi_{a_0}^{\sigma}$  is injective by Proposition 5.4. Hence, as a  $\mathbb{C}[\partial]$ -module,  $\mathrm{CDer}_{\sigma}(\mathcal{R})$  can be embedded into  $\mathcal{R}$ .  $\Box$ 

5.2. Relation with conformal  $(\alpha, \beta, \gamma)$ -derivations

Recall that a conformal linear map  $d \in \text{Cend}(\mathcal{R})$  is a *conformal*  $(\alpha, \beta, \gamma)$ -*derivation* of  $\mathcal{R}$  if there exist  $\alpha, \beta, \gamma \in \mathbb{C}$  satisfying that for any  $a, b \in \mathcal{R}$ ,

$$\alpha d_{\lambda}([a_{\mu}b]) = [(\beta d_{\lambda}(a))_{\lambda+\mu}b] + [a_{\mu}(\gamma d_{\lambda}(b))].$$
(3)

For any given  $\alpha, \beta, \gamma \in \mathbb{C}$ , we denote the set of all conformal  $(\alpha, \beta, \gamma)$ -derivations by  $\text{CDer}_{(\alpha, \beta, \gamma)}(\mathcal{R})$ , i.e.,

$$\operatorname{CDer}_{(\alpha,\beta,\gamma)}(\mathcal{R}) = \{ d \in \operatorname{Cend}(\mathcal{R}) \mid \alpha d_{\lambda}([a_{\mu}b]) = [(\beta d_{\lambda}(a))_{\lambda+\mu}b] + [a_{\mu}(\gamma d_{\lambda}(b))], \forall a, b \in \mathcal{R} \}.$$

We turn now to the problem of relation between conformal ( $\sigma$ ,  $\tau$ )-derivation and conformal ( $\alpha$ ,  $\beta$ ,  $\gamma$ )-derivations.

**Lemma 5.6.** Let  $\mathcal{R}$  be a Lie conformal algebra. Then

 $\operatorname{CDer}_{(\alpha,\beta,\gamma)}(\mathcal{R}) = \operatorname{CDer}_{(\frac{\alpha}{\beta+\lambda},1,0)}(\mathcal{R}),$ 

*for any*  $\alpha, \beta, \gamma \in \mathbb{C}$ *.* 

*Proof.* According to [3, Proposition 4.2], we observe that

 $CDer_{(\alpha,\beta,\gamma)}(\mathcal{R})$   $= CDer_{(0,\beta-\gamma,\gamma-\beta)}(\mathcal{R}) \cap CDer_{(2\alpha,\beta+\gamma,\beta+\gamma)}(\mathcal{R})$   $= CDer_{(0,1,-1)}(\mathcal{R}) \cap CDer_{(\frac{2\alpha}{\beta+\gamma},1,1)}(\mathcal{R})$   $= CDer_{(\frac{\alpha}{\beta+\gamma},1,0)}(\mathcal{R}).$ 

This lemma is proved.  $\Box$ 

367

**Proposition 5.7.** Suppose that  $\sigma$  is an element in G and there exists a scalar  $\alpha \in \mathbb{C}$  such that  $(\sigma - \alpha id_{\mathcal{R}})(\mathcal{R}) \subseteq Z(\mathcal{R})$ . If  $\alpha \neq 1$ , then  $\operatorname{CDer}_{\sigma}(\mathcal{R}) = \operatorname{CDer}_{(\frac{1}{2},1,0)}(\mathcal{R})$ ; if  $\alpha = 1$ , then  $\operatorname{CDer}_{\sigma}(\mathcal{R}) = \operatorname{CDer}_{(1,1,1)}(\mathcal{R}) = \operatorname{CDer}(\mathcal{R})$ .

*Proof.* Assume that  $d \in \text{CDer}_{\sigma}(\mathcal{R})$ . Since  $(\sigma - \alpha \text{id}_{\mathcal{R}})(\mathcal{R}) \subseteq Z(\mathcal{R})$ , we have

 $[(d_{\lambda}(a))_{\mu}(\sigma(b))] = [(d_{\lambda}(a))_{\mu}(\alpha b)], \quad \forall a, b \in \mathcal{R}.$ 

Notice that

 $d \in \mathrm{CDer}_{\sigma}(\mathcal{R}) \Leftrightarrow d_{\lambda}([(a_{\mu}b]) = [(d_{\lambda}(a))_{\mu}(\alpha b)] + [a_{\mu}(d_{\lambda}(b))] \Leftrightarrow d \in \mathrm{CDer}_{(1,\alpha,1)}(\mathcal{R}),$ 

which implies that  $\text{CDer}_{\sigma}(\mathcal{R}) = \text{CDer}_{(1,\alpha,1)}(\mathcal{R})$ . If  $\alpha \neq 1$ , then  $\text{CDer}_{(1,\alpha,1)}(\mathcal{R}) = \text{CDer}_{(\frac{1}{\alpha+1},1,0)}(\mathcal{R})$  by Lemma 5.6. Therefore,  $\text{CDer}_{\sigma}(\mathcal{R}) = \text{CDer}_{(\frac{1}{\alpha+1},1,0)}(\mathcal{R})$ . If  $\alpha = 1$ , then  $\text{CDer}_{\sigma}(\mathcal{R}) = \text{CDer}_{(1,1,1)}(\mathcal{R}) = \text{CDer}(\mathcal{R})$ .  $\Box$ 

**Proposition 5.8.** Let  $\mathcal{R}$  be a Lie conformal algebra. If  $\delta \neq 0$ , then  $\operatorname{CDer}_{(\delta,1,-1)}(\mathcal{R}) = \operatorname{CDer}_{\operatorname{id}_{\mathcal{R}},-\operatorname{id}_{\mathcal{R}}}(\mathcal{R})$  and  $\operatorname{CDer}_{(\delta,1,1)}(\mathcal{R}) = \operatorname{CDer}_{\frac{1}{\zeta}\operatorname{id}_{\mathcal{R}},\frac{1}{\zeta}\operatorname{id}_{\mathcal{R}}}(\mathcal{R})$ .

Proof. According to [3, Proposition 4.2], we can get

$$CDer_{(\delta,1,-1)}(\mathcal{R}) = CDer_{(0,2,-2)}(\mathcal{R}) \cap CDer_{(2\delta,0,0)}(\mathcal{R}) = CDer_{(0,2,-2)}(\mathcal{R}) \cap CDer_{(2,0,0)}(\mathcal{R}) = CDer_{(1,1,-1)}(\mathcal{R}).$$

Note that

$$d_{\lambda}([a_{\mu}b]) = [(d_{\lambda}(a))_{\lambda+\mu}b] - [a_{\mu}(d_{\lambda}(b))],$$

for any  $d \in \text{CDer}_{(1,1,-1)}(\mathcal{R})$ . Because of this, d is a  $(\sigma, \tau)$ -derivation with  $\sigma = \text{id}_{\mathcal{R}}$  and  $\tau = -\text{id}_{\mathcal{R}}$ . Therefore,  $\text{CDer}_{(\delta,1,-1)}(\mathcal{R}) = \text{CDer}_{\text{id}_{\mathcal{R}},-\text{id}_{\mathcal{R}}}(\mathcal{R})$ .

Similarly,  $\text{CDer}_{(\delta,1,1)}(\mathcal{R})$  is a  $(\sigma, \tau)$ -derivation with  $\sigma = \frac{1}{\delta} \text{id}_{\mathcal{R}}$  and  $\tau = \frac{1}{\delta} \text{id}_{\mathcal{R}}$ .  $\Box$ 

## References

[1] H. Chang, Y. Chen, R. Zhang, A generalization on derivations of Lie algebras, Electron. Res. Arch. 29 (2021), no. 3, 2457–2473.

[2] A. D'Andrea, V. Kac, Structure theory of finite conformal algebras, Selecta Math. (N.S.) 4 (1998), no. 3, 377-418.

[3] G. Fan, Y. Hong, Y. Su, Generalized conformal derivations of Lie conformal algebras, J. Algebra Appl. 18 (2019), no. 9, 1950175, 16 pp.

[4] V. Kac, Vertex algebras for beginners, American Mathematical Society, Providence, RI, 1997.

[5] V. Kac, Formal distribution algebras and conformal algebras, International Press, Cambridge, MA, 1999.

- [6] J. Zhao, L. Chen, L. Yuan, Deformations and generalized derivations of Lie conformal superalgebras, J. Math. Phys. 58 (2017), no. 11, 111702, 17 pp.
- [7] J. Zhao, L. Yuan, L. Chen, Deformations and generalized derivations of Hom-Lie conformal algebras, Sci. China Math. 61 (2018), no. 5, 797–812.